201846 H2H (1)  3MEHE1H 4R

4R 3100m ZEo4—k A% : 1350, 540, 340, 200, 13575 ’
= mmqu e N o 2 ER 3217 « ) &ﬁz‘la%ﬂﬁ & 1 2 3 4 8 i }
YIREBERUL AT~ (BE) HE 541 BF 3:36.6 (B#%ME) 25 25 25 31 31 6 71 25 Grarrc d
HEE | PEEK (ERSEE BB AR E AR 147 =HifER }Eﬁa BigE GE, F. &) B HTE=L—R& L—T142v9 Y5R 341B= %IIE S
B F | MEAMHE B ahoinn| B dn  |MTE=BGE-E BF-FE 2. 3. AAEBIEG STE=EE-O—X - BBRE 1L Fig1F (BE) /J:f:w 3 F (3Fitt'>
22 | B 2 |ExEs/FE|m  4suT | R 29700 T(64THE = L—X X—HI3F - difd - HIF (HELY, WEH), SBLY) MT%%3 F 24 A 40—F—#ARMGIEL HFET - ZLER B
&|B| % | BOR WE | BERE | 2310085 |Sn B zﬂé J0%0miLE EBIEH FIF - PR - $3F (5~1) TFE=1HERF2HE GF%) 1. 2. SHEOME
£E/BE BAvX | B & | 577ARM| @ BeFE| gproims HiE BiAE 3FERT 4FERT SR
LEEPE 6 | 48 T A | ®m 0000 | B:%00.0.0 | 18 0428 47 T#m1 | 18.03.11 7 2002 |18.02.12 ¥ 1Rm6 |17.12.17  F O5W#6 | 17.11.26  F 55h8
TFUOYNERR i B 462-462 | M1l 0.0.0.0 | =h 1.0.0.0 | SREEF wE | SREEF wE | EES 16005 | JTTAT S 160075 | JERHES 16007
T N 60.0 .077| Ff 60-60 #£80.000 | =F0001 | 1 1388 9% 2A 14 1438 3% 2\ 4 1388 6% TA 11 17817&15A k40| 11 1588 9&I3A
11 LF 4 NEHRR B | B&E 2B 1.0.0.0 | 63% 160075 | 462 0 BHAH 60 DDD| 462 +2 FwAH 60 @B@® | 460 -8 ##1Lgh 54 468 0 pufiiE 57 @ | 468 +14 KR 55 QO
(Mont jeu) R 259 FEFR0.0.0.0 | ik OF |2890m ¥ B 3:10.9 13.2 | 3000m 2 7 4:37.8 18.5 | 1400m = B 1:22.4 34.5 [ 1600m ¥ B 1:34.4 34.7 [ 1400m 3 B 1:22.3 35.3
547477-L (FFR O VBT [%] | 5.0.2.17 £ 1.0.0.1 S 37.8 (5) 535 39.3 (10) 335 | MMM 35.4-34.3 (6) 433 |MMM 35.5-34.3 (5) 443 | MHM 35.4-34.6 (5) 533
FEFRD 804975 ;Llioﬁoﬁo £F40216] h48 0012 Fa7hiy 4-(-0.3) KEE | 23-M -4 (75.9) KkE | 79920 4) EE% | 3U¥-1 (0.6)  B%E | £ 72394(0.8) EEE
XA aR—5— €49 62 i 0.0.0.0 | H3%0.0.0.0 | 18.04.28 57 THR1 | 17.06.11 65 3WmA4 | 17.04.22 54 285 01 68 20 %3 | 17.02.05 46 25 R4
WAL IYF X BEEE % 496-500 B110.0.0.0 [ =h1.2.0.1 -7 7'y -7 17 —7: 7y | ZREK—R -7y | KR EE
~3 60.0 .313| / 60-60 BHB0.0.01 [ =F01.1.1 |8 1438 6% OA 3 THEIBEIA BA|6  MENFIA 4 |2 MEMEOSA KRS 1 115 8/ IA 5
Y3 2 z = | tREHEE #iB0.0.0.1 | 75 100075 [ 490 -8 Bk 60 @OO | 498 +10 B1Rikk 60 GBQ | 488 -8 HiRkE 60 ©6® | 496 -4 FUKiE 60 Q@D| 500 +2 H=iRkE 60 GBD
(Kriss.) ZH 126 EFR0.0.0.0 | ik O |2890m ¥ B 3:08.6 13.1[3110m = B 3:29.0 13.4 | 3380m = B 3:45.0 13.3 [ 3140m # # 3:36.5 13.8 [ 2910m = #4 3:23.7 14.0
xﬂﬁwﬁcﬁflm) [%] | 43237 |£001.0 [£@1312| - @ - 38.1 (11) 245 (8) 253 (1) 223 354 (M 434
WA 3370.87% | #05£3% 1380 | £F 3.0.1.35| 4@ 0004 [ E' 9PV (1. 7)) 25k | 399 544 (0.2) ek YA Y UY-(R.4) KxE | MYanyi-b(0.3) FEHkdk | VM (0.3) k%
7|:|7$ 5|12 & ::: : : | Rm00.00 | E5%0.0.00 |17.08 26 55 28189 [ 17.04.29 57 T%A1 | 17.01 29 45 THmR6 | 17.01_14 41 TRl | 16.12.17 42 AR5
k—F7EZT i 5 B 450-456 | #1L0.0.0.1 [ =A0.0.1.4 BUYY Gl -7 7y | REEF BE | REF BE | FREF mE
= 58.0 .098| fr 56-57 50011 | =F1.202 |10 128 1BIOA |M |7 1458 3B 1A 1 1438 9F 1A 2 1458 8% 1A 2 1478 78 4A
3 Kl k=7t E* i) $i80.0.0.3 | 38 KEF | 442 -2 INBF 58 @O [ 444 -12 BHE 57 DOQO | 456 +2 B#FE 57 QOO | 454 +4 F@E 57 @OO | 450 0 HEHRE 56 DD
(Fo% %) . FEFR00.1.0 [ bk O |3250m = 7§ 3:37.5 13.4 [ 2890m & B 3:09.3 13.1|3000m & B 3:18.7 13.2 | 3000m = #4 3: 20 7 13.4|3000m 2 B 3:19.6 13.3
b7k (52 HET) [#]| 1.21.13 | £ 0001 | £@r21.6 | -vo--- (15) 213 (11) 234 (1 354 255 (13) 155
BV #) 176575 | 051322580 | £ 0.0.0.7 | 83 000 2 | 5 yb A84(6.5) Sk | U0 A-n -#95(1.6) SESEE | Av-MUEY(-0.6)  SEsEk | t45Uyh o-p (0. 3) §§5E 4 0-3" (0.4) EEk
FEVEINZIEN 6 | 50 B[ ... .. |R®0001 | Z5%00.00 |18 0421 51 1785 | 18.01.13 53 TRl | 17.12.17  F 4dm6 | 17.10.21 66 3FTim3 | 17.04.08 IEEEL
WwISAFLELY |F B B 488-488 | il 1.0.0.1 | =2 1.0.03 —J =7y | A—=T 17y | 500 50075 -7y -7 —Jv =7y
2 e 60.0 .127| fr 60-60 B8B0.01.3 [ =F0024 |10 1288 8% TA 9 1438 BHEIA 16 18TITHIZA 3 11EE 3% TA thib 1438 6% 1A
4 A RUATR—Y B | FEET 2B 0.0.1.0 | 4% 50075 | 488 -14 HEE& 60 @@ | 502 +2 hFtiF 60 DDD | 500 +8 EM# 57 @@ | 492 -8 TiREE 60 DDD [ 500 +10 LLAEE 60 A@@
(Txq KONRY—) W 209 FEFR0.0.00 | ik 2 |3380m = B 3:48.6 13.53330m £ B 3:41.6 13.3 [ 2200m ¥ B 2:14.5 38.0 | 3250m = R 3:34.2 13.2 | 2750m = B
IRATHOS (O BT [%]] 3122 | 20002 [£@ro27 | - - - 39.4 (13) 135 39.2 (5) 535 | HHS 35.2-36.7 (7) 442 (5) 532
HIEE 157675 | #15£0520:80 | £F 2.1.0.16| 5@ 00 0 1 | At I (4.2) 352k | 15909044 (2.9) EESE | WS 41(1.6) ZBIB | 27V Y 4v7 (0.8) SEM SRk
EEPELE YN HA| 62 O: ::: |3=x00.00 | Z:%0.000 |18.0505 63 1383 180304 45 29104 | 18.01.21 39 T4 | 17.12.24 37 SIS | 17.12.09 39 453
Aq2 '7’5‘7J:E'J HEEEt | & 500-504 | fuli0.0.0.1 | ZA0.1.1.0 —J -7y 17y F BE BEF B J] EE
~3 60.0 .222| Fr 58-59 880000 [ =Fr01.2 | 3 138EI3E 8A K4t 7 14513& AN KA1 128E128 TN RS | 2 1488 4% AN 4 1438 9% AN
515 a1l =vrror ity #iB0.0.2.0 | 3% KEFFI | 498 +4 HEHH 59 DQO [ 494 -10 FRE 59 QOO [ 504 +4 FiRfE 59 DDD| 500 0 FiRfg 58  DDD | 500 +10 FiRfE 58 @D
(Unbridled’ sSong) FE® 138 EFR0.0.00 | ik O |3200m ¥ # 3:36.5 13.2 [ 3200m ¥ B 3:40.4 13.83000m ¥ B 3:18.4 13.2 [ 2970m ¥ B 3:21.6 13.6 [ 3000m = B 3:18.7 13.2
B/ 45 GRsaTaT) [%€]| 1.1.28 |2 001.0 |[2@r122 | @ - 40.5 (13) 155 38.7 (14) 215 39.8 (5) 535 39.4 (5) 535 (5) 532
AR 17507 izﬁ:oio,so 2F0.0.0.6 | +38 1000 S44ubyh (0.8) REZE | T 454bI0(6.0) RIES | VAN -9 (-2.3) kS | TAI-44YY(0.2) Seakse | yagturuab(0.8)  sEsEsE
CI-PES HT [ 50 R 0.0.00 | Z:%0.0.0.0 | 18.05.05 1583 || 18.02.10 37 251% 5 | 18.01. 14 Thm2 | 17.12.16 44 4chm5 [ 17.11.19 34 3EB6
HFATHRIY—Fk EHAE ﬁ 532 546 ®100.0.0.0 | =A1.0.0.3 B F BE B F BE B B | FpEF E
N 60.0 .158| fr 60-60 #50.0.0.1 [ =F0.200 | 1 1488 8% 2A 4 143 9F 1)\ 2 14PE 1®IN BA| 2 148E14F AN K4 |5 143 8% 5A
(M 6|0 | vn—Lozfi—n B | FE#EX 8 1.0.0.1 | 53 10005 | 538 -4 JEEHA 60 DDD|542 -4 REA 60 DDD | 546 +14 EFHA 60 ODD | 532 +2 &KEA 60 DDD| 530 -2 KHFH 60 2@
(EICorredor) ES R FFR0.0.0.0 [ bk OF | 2890m ¥ 4 3:10.3 13.2 | 2910m ¥ B 3:19.7 13.7[3000m ¥ B 3:19.5 13.3 [ 3000m ¥ B 3:23.4 13.6 [ 2770m = R 3:05.3 13.4
B3 405 (B &) [#] | 48412 | %1000 |£@1.203 | @ --- 37.7 (5) 535 39.3 (5) 535 37.8 (5) 535 36.8 (5) 535 (8) 342
i 610875 | #%35£02£0580 | £ 3.6.4.9 | 38 03 04 | Mya9) v a(-1.7) kE% [399°50.2) SHkHE | 24107 (0.0) Sk | 35 R ATY (0.2) Sk | A -5 v(2.8) MkEK
PEUFE RS H5 [ 65 ©: : :: |®mI1.0.1.1 | Z:%0.0.0.0 [ 18.03 31 68 203 | 18.02.18 63 2RER8 | 17.11.18 10 5®mb5 | 17.10.07 45 4RI | 17.08.20 38 2578
TL¥no AWRE— | B 486-494 | B1L0.0.0.0 | =3 0.0.1.0 | =KK—R I I e ) 17y *’}\"ﬁ’/‘\"/ 17y B F = | KER EE
60.0 .174| & 60-60 BH0.0.00 [ =Fr.222 | 3 0@ 45 1A 5 1388 4% 2A 1438 5% 5A 1 1410 1A 3 1438 5% 1A
1|7|o|3—nrrzysx B | ®HRE £350.0.1.0 | 4% 10005 | 492 -6 B 60 Q)| 498 -4 BHZE 60 ©DO® 502 +8 AR 59 OO | 494 +6 BHE 60 ©@D | 488 +2 MR 60 DO@
(RA21=H7—2R) £ 180 BEFR1.0.0.0 | ik O |3140m = B 3:32.5 13.5|3170m £ B 3:38.0 13.8 | 3110m = B 3:28.5 13.4 [ 3000m # % 3:30.2 14.0 [ 2850m 3 B 3:04.2 12.9
SPRIIS (HiEET) [%]] 3331320201 [£Er232 | - - 38.5 (1) 435 38.8 (10) 325 (8 434 (5) 544 (11) 324
2 4485. 35 1105\32§1;E.0 2T 2.1.0.11| s 0105 | 725-44Y2(0.5) Ak | 3197 5(0.5) ESS | Ay -(1.0) ek | bubina? ((0.7) Sk | 9IABULAT9h(1.3) k%
N—EoTx— 6 | 50 Fm0.0.0.0 | H3%0.0.0.0 | 18.04.29 51 1382 [18.02.25  F 1/VE6 [18.01.28 & 2m#R2 | 18.01.07  F 1m#R2 | 17.12.09  F 5R##3
Sy RXIFUh EREgE | B 504 504 fhil10.0.0.0 | =4 1.0.0.0 | SREEF x| BEPI4ES 16005 | RE S 16005 | S 160075 FTUArs 160075
vy i 60.0 .296| F* 60-60 880000 [ =F0000 |1 1088 7% 1A 4 |6 1138 5% 9A 8 1158 5FIOA 7 @5 7 1158 6% 9A
71(8|a|Ey/v5 | ARR— Hi81.0.0.0 | 68 160075 [504 +6 FiRfE 60 DDD|498 -2 BLE 57 ©B@® [ 500 -4 ##Ilisk 57 DD | 504 +6 RE 57 498 -2 )@ 54 DO
HYF—YA LVUR) FH 156 EFR0.000 | ik 0E |2890m 3 B 3:07.6 13.0 | 1800m = B 1:46.0 34.6 | 1800m & B 1:49.1 35.8 | 2000m & B 2:00.6 34.9 | 2400m & B 2:29.4 33.5
=¥ ¥77-h (RFET) [#] | 5.2.4.17 £[1.000 [ - @ - 36.6 (5) 535 | MMM 35.1-35.0 (7) 355 |SMM 36.3-34.9 (4) 533 | HWM 35 4-35.3 (12) 145 | SSH 38.2-33.9 (9) 345
RSN m A (#R) 8005. 275 iweoiolso £ 42417| 548 0002 | b-3-£"-2(-0.8)  #k%%k | Liany)(0.8) SesEsE | Man- -0.9)  EEE | M4y (.5) SekE |V +5-(0.3) EHESE
PEEVEE] H5 [ 56 T 1.0.0.1 | Z5%0.0.0.0 [ 18.01.13 60 TeRE1 | 17.12.09 65 253 | 17.11.18 67 GRm5 | 17.10.28 59 3FTR5 [ 17.05.27 16 SREIT
7X7’}'“ R EFRF §492 504 h1110.0.0.0 | =4 0.0.0.4 —Jv -7y —Jv 17y #}J’%"/‘V/ 7'y —Jv =7y | mERANA D Gl
g 60.0 .148| Ff 58-60 BH0.0.0.1 [ =F1.405 |5  148E14F 1A Kb | 2 1458 8% 3A 143E13% 6A ks |4 148 3% 3A 6 1138 2% 4N W
8|9 A2l rrFv—H1Fk 55 | MAE B 0.1.0.1 | 3% KBF | 510 6 £FHK 60 DDO | 504 +14 2F % 60 BB 490 -4 JLiRfE 59 BB® | 494 +2 JLiRfE 60 ®D@ [ 492 0 HiEME 59 OOD
(T)La > RLisy—) ZE® 105 FF0.0.0.1 fiuk O | 3330m 3 B 3:39.7 13.2[3300m 3 B 3:37.6 13.2|3110m & [ 3:29.1 13.4 | 2850m & B 3:05.1 13.0 | 3930m ¥ B 4:36.1 14.1
DK (B EET) [£]| 14013 | 20102 | 21409 | ---v---- 39.2 (9) 255 (6) 524 (16) 115 9) 423 A7) 134
RER 33335 ,LoazzgsLo £¥00.0.4 | %3+ 00049595704 (1.0) E&E% | 93997044(0.0) EEE | R S 8-(1.6) Sk | WM V7 b(0.8) ek | TN U-FAI1(3.9) ks
FFARTF oI EAT |61 TR 0001 | Z3%0.0.0.0 | 18.04.28 56 TFRl [18.01 13 TRl | 17.12.16 44 4chR5 | 17.11.25 38 SRm/ | 17.04.29 35 3BT
LA THYH 3 % a78-478 %1110.0.0.0 | =A,0.0.0.2 -7 7'y 7y | REEF [ ﬂaﬂﬁq wE | SREF EE
- < .0 .000| fr 60-60 880000 [ =F1.002 |11 148814% 6A Ko EPJJ: 147810% 3N 1 1438 5% 1A 4 " 1388 7% S5A 8 1478 9% 4A
8 [10 2T 4 U H— = | mgEz £3%0.0.0.2 | 6#& 10005 | 470 -14 HEiRE 60 484 +6 RLRE 60 @M | 478 +6 HLRE 60 @B | 472 +2 HEIRE 60 AP@ | 470 -16 FLRE 60 @D
HoF—HALVR) R 185 BEFR0.0.0.0 | ik 1@ | 2890m ¥ B 3:08.9 13.13330m = B 3000m ¥ B 3:23.2 13.5 [ 3000m ¥ B 3:24.8 13.7 [2890m ¥ B 3:11.9 13.3
#HE77-L(F ) [%] | 3.2.1.20 L1004 [ @ 38.1 (11) 245 39.2 .8 (6) 535 (8) 433 (13) 134
(&) #BV-24-2 87317 | #0%12080 | £F 2.2.1.16[ il 000 1| E'yb7Lh'n(2.0) sk EEE | J0229-4(-0.2) ks [ 19-7179-(1.7) KK | Mya9it-4.0) WK
HIZ3100mEA 55 A (SEETHARS : 2016. 05. 31~2018, 05. 30)
|[:tod BHES HERH 1% 2% 3%®F &S 23 T
1 Muhtathir 1 1 0 0 0 1.000 1.000
2 ISvoaq kK 2 1 0 0 1 0.500 0. 500
3 FEIALVL—Y 2 1 0 0 1 0.500 0. 500
4 Ay aR— 3 1 0 0 2 0.333 0.333
5 YURYSYRIR 3 0 1 1 1 0.000 0.333
6  TFazvHL 1 0 1 0 0 0.000 1.000
7 €v/soJodg 2 0 1 0 1 0.000 0. 500
8 PRt S IVIN 2 0 1 0 1 0.000 0. 500
9 ST LAy b 1 0 0 1 0 0.000 0.000
10 T R7Ya— 3 0 0 1 2 0.000 0.000

201846 H2H (1)

3EHEILH 4R ¥ T RIEEIR L A—T > (HE)

BIE 3100m Z—->X—h

i g iz, Y HOFEERLIL

HIERGH, 5

TAWEY,

TARTEMEFITOMBEREMAEL T FEW,

A5 OB, R E T,



